# SECURITIES AND EXCHANGE COMMISSION SEC FORM 17-C

# CURRENT REPORT UNDER SECTION 17 OF THE SECURITIES REGULATION CODE AND SRC RULE 17.2(c) THEREUNDER

1. Date of Report (Date of earliest event reported)

Jul 22, 2025

2. SEC Identification Number

13174

3. BIR Tax Identification No.

000-108-278-000

4. Exact name of issuer as specified in its charter

DigiPlus Interactive Corp.

5. Province, country or other jurisdiction of incorporation

NCR, Philippines

- 6. Industry Classification Code(SEC Use Only)
- 7. Address of principal office

Ecoprime Building, 32nd Street corner Ninth Avenue, Bonifacio Global City, Taguig City Postal Code

1635

8. Issuer's telephone number, including area code

(632) 8634-5099

9. Former name or former address, if changed since last report

N/A

10. Securities registered pursuant to Sections 8 and 12 of the SRC or Sections 4 and 8 of the RSA

Title of Each Class	Number of Shares of Common Stock Outstanding and Amount of Debt Outstanding
Common	4,512,971,278

11. Indicate the item numbers reported herein

Item 9

The Exchange does not warrant and holds no responsibility for the veracity of the facts and representations contained in all corporate disclosures, including financial reports. All data contained herein are prepared and submitted by the disclosing party to the Exchange, and are disseminated solely for purposes of information. Any questions on the data contained herein should be addressed directly to the Corporate Information Officer of the disclosing party.

# DigiPlus Interactive Corp. PLUS

PSE Disclosure Form 9-1 - Share Buy-Back Transactions References: Section 9 of the Revised Disclosure Rules

Ch:4	-£ 4h -	D:I	
Subject	or the	DISC	osure

DigiPlus Interactive Corp. (PLUS) Share Buy-Back Transaction

# **Background/Description of the Disclosure**

Share Buy-Back Transaction on July 22, 2025.

On July 4, 2025, the Board of Directors of DigiPlus Interactive Corp. approved the Php 6 billion-share buy-back program.

# **Type of Securities**

_	_	
$\square$	Common	

☐ Preferred N/A

□ Others N/A

# **Details of Share Buy-Back Transaction(s)**

Date of Transaction	Number of Shares Purchased	Price Per Share
Jul 22, 2025	202,000	19.70
Jul 22, 2025	500,000	19.78
Jul 22, 2025	10,000	19.80
Jul 22, 2025	13,500	19.84
Jul 22, 2025	15,000	19.86
Jul 22, 2025	77,200	19.88
Jul 22, 2025	727,900	19.90
Jul 22, 2025	37,300	19.92
Jul 22, 2025	41,300	19.94
Jul 22, 2025	36,400	19.96
Jul 22, 2025	35,400	19.98
Jul 22, 2025	804,000	20.00
Jul 22, 2025	16,000	20.25

Jul 22, 2025	17,100	20.30
Jul 22, 2025	119,100	20.35
Jul 22, 2025	68,800	20.40
Jul 22, 2025	56,700	20.45
Jul 22, 2025	222,300	20.50
	3,000,000	

# **Effects on Number of Shares**

	Before	After				
Outstanding Shares	4,512,971,278	4,509,971,278				
Treasury Shares	392,647,488	395,647,488				

Cumulative Number of Shares Purchased to Date <sup>1</sup>	18,000,000
Buy-Back Program	6,000,000,000
Total Amount of Shares Repurchased	464,974,653

#### **Other Relevant Information**

As a result of the share buy-back transaction made on July 22, 2025, the remaining balance of the amount for the Share Buy-Back Program as of this date is Php5,535,025,347.00.

# Filed on behalf by:

<b>Designation</b> Corporate Secretary	Name	Carol Padilla
Designation Solperate Secretary	Designation	Corporate Secretary

<sup>&</sup>lt;sup>1</sup> From the date when the share buy-back program commenced.

# **COVER SHEET**

																					0	0	1	-	3	1	7	4				
																								SEC	Reg	istr	atio	n Nu	ımbe	er		
					D	i	g	i	Р	l	u	s		ı	n	t	е	r	а	С	t	i	٧	е								
				l	l	I	<u> </u>					<u> </u>	С	_		_	l 									l	I		I	<u> </u>	l	 
												10		O	r 's F	Р	• Jam	a)														
	(Company's Full Name)																															
Ε	С	0	р	r	i	m	е		В	u	i	l	d	i	n	g	,		3	2	n	d		S	t	r	е	е	t			
N	i	n	t	h		Α	٧	е	n	u	е	,		В	0	n	i	f	а	С	i	0		G	l	0	b	а	l			Γ
С	i	t	У	l	l	Т	a	ď	u	i	g		С	i	t	У	I			I	 		l		l	I	I		l			<u>—</u> Т
	<u>'</u>	ľ	У	,		'	а	g	u	•						-	0 5	ree	t													
	(Business Address: No. Street City/Town/Province)																															
				٩tt	v. (	Cai	rol	Pa	dil	la				1								Γ			- {	863	34-	50	99			
				(	(Cor	ntra	ct Pe	ersoi	n)					_								_		(Cor				ohon		umb	er)	
Γ	1   2	2	٦.	3	1									·	1   ;	7 -	. (	-								Ū	luly			25		_
	lont			Day												orm										L		nth			Day	$\perp$
•																/pe)											,,,,				Juy	
	(Fiscal Year)																															
	Not Applicable																															
	(Secondary License Type, If Applicable)																															
	Not Applicable																															
Dep	t. R	equ	iring	g thi	s Do	oc.				l													Ame	ende	ed A	rtic	les 1	lum	ber/	'sect	tion	
																							Т	ota	. Am	oun	ıt of	Bor	row	ings		
Tot	al N	0. 0	f Sto	ockh	olde	ers																	Do	mes	tic				Fo	oreig	gn	_
										<del>-</del> -	o be			 plish		by Si	FC F	ors	onne	 si												
											o be	. act	Join	con			LCI	CIS	Jillic	. (												
							]			-																						
		<u> </u>	Fi	le N	umb	er				-	_				LC	U					•											
										-																						
	<u> </u>		Do	cun	nent	: ID					_				Cas	hier					•											
			S	ТΑ	M P	S																										
																					ark		ease	e use	BL	ACK	ink	for	scar	nnin	g	

#### **SECURITIES AND EXCHANGE COMMISSION**

# SEC FORM 17-C

# CURRENT REPORT UNDER SECTION 17 OF THE SECURITIES REGULATION CODE AND SRC RULE 17.2(c) THEREUNDER

1.	<u>July 22, 2025</u> Date of Report (Date of earliest event reported)								
2.	13174 SEC Identification Number								
3.	000-108-278-000 BIR Tax Identification No.								
4.	<u>DigiPlus Interactive Corp.</u> Exact name of issuer as specified in its charter								
5.	NCR, PHILIPPINES Province. Country or other jurisdiction of incorporation								
6.	(SEC Use Only) Industry Cla	ssification Code							
7.	. <u>Ecoprime Building, 32nd Street corner Ninth Avenue, Bonifacio Global City, Taguig City</u> Address of principal office								
	1635 Postal Code								
8.	3. <u>(632) 8634-5099</u> Issuer's telephone number, including area code								
9.	9. <u>N/A</u> Former name or former address, if changed since last report								
10.	10. Securities registered pursuant to Sections 8 and 12 of the SRC or Sections 4 and 8 of the RSA								
	Title of Each Class	Number of Shares of Common Stock Outstanding and Amount of Debt Outstanding							
	Common Stock, Php1.00 Par Value	4,512,971,278/Not Applicable							

11. Indicate the item numbers reported herein: **Item 9** 

#### **Share Buy-Back Transactions**

On July 4, 2025, the Board of Directors of **DigiPlus Interactive Corp.** approved the Php6 Billion-Share Buyback Program.

Details of Share Buy-Back Transactions:

Date of	Number of Shares	Price per	<b>Total Transaction</b>						
Transaction	Purchased	Share							
July 22, 2025	202,000	19.70	3,979,400.00						
July 22, 2025	500,000	19.78	9,890,000.00						
July 22, 2025	10,000	19.80	198,000.00						
July 22, 2025	13,500	19.84	267,840.00						
July 22, 2025	15,000	19.86	297,900.00						
July 22, 2025	77,200	19.88	1,534,736.00						
July 22, 2025	727,900	19.90	14,485,210.00						
July 22, 2025	37,300	19.92	743,016.00						
July 22, 2025	41,300	19.94	823,522.00						
July 22, 2025	36,400	19.96	726,544.00						
July 22, 2025	35,400	19.98	707,292.00						
July 22, 2025	804,000	20.00	16,080,000.00						
July 22, 2025	16,000	20.25	324,000.00						
July 22, 2025	17,100	20.30	347,130.00						
July 22, 2025	119,100	20.35	2,423,685.00						
July 22, 2025	68,800	20.40	1,403,520.00						
July 22, 2025	56,700	20.45	1,159,515.00						
July 22, 2025	222,300	20.50	4,557,150.00						
Total	3,000,000		Php59,948,460.00						

The effects of the transactions are as follows:

Shares	Before	After				
Outstanding Shares	4,512,971,278	4,509,971,278				
Treasury Shares	392,647,488	395,647,488				

Cumulative Number of Shares Purchased to Date*	18,000,000
Total Amount Appropriated for the Buy-Back Program	Php6,000,000,000.00
Total amount of Shares Repurchased	Php464,974,653.00

<sup>\*</sup>From the date when the share buy-back program commenced.

As a result of the share buy-back transaction made on July 22, 2025, the remaining balance of the amount for the Share Buy-Back Program as of this date is Php5,535,025,347.00.

# **SIGNATURES**

Pursuant to the requirements of the Securities Regulation Code, the issuer has duly caused this report to be signed on its behalf by the undersigned hereunto duly authorized.

# **DIGIPLUS INTERACTIVE CORP.**

Issuer

July 22, 2025 Date Carol V. Padilla Corporate Secretary